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 [image: http://1.bp.blogspot.com/-kmqSTzk_BgU/UwGj3oXlErI/AAAAAAAABJo/-Gqx6Tq0h_o/s1600/4NumberFourInCircle.png]Solve the problem.  Draw lines and shade the rectangle to show what you did.

1/3  of  2/5  is  ________






 Rewrite the fractions as equivalent fractions with common denominators.

a. 3/8 and ¼    _____________
b. 6/7 and 2/5   _____________
c. Describe the strategy you used to solve problem b. ______________________________________________________________________________________















[image: https://encrypted-tbn0.gstatic.com/images?q=tbn:ANd9GcSqciArRVwxsyvorxM_GZzNaIbssZNaZZ_ibiCN_Rqf-No6aCVj]Estimate.  Then solve.

a. 3 ¼ + 5 3/5 = ?

Estimate:_______________
Solve:_________________
b. 5 5/6 – 2 ½ =  ?

Estimate:_______________
Solve:_________________
c. 

	[image: http://2.bp.blogspot.com/-OKebfAWWfZo/UN4VC1kazKI/AAAAAAAABSQ/dQ-VUcbdZAU/s1600/five.png]Explain why multiplying any fraction by a fraction equal to 1 always gives you an equivalent fraction.  Provide an example in your explanation.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________




[image: http://1.bp.blogspot.com/-YCz1FTEvH78/Unm7PzMOAVI/AAAAAAAAPWs/8RyM6X4q514/s1600/7.png][bookmark: _GoBack]          Jeff has 4 pounds of fudge.  He cuts them into 1/5 pound pieces.  How many pieces will Jeff have?

a.  Division number model: _________________________

b. Answer:____________
c. Check:_____________






Answer:________________________
          







[image: http://cdn.caughtoffside.com/wp-content/uploads/2009/10/6NumberSixInCircle.png]  Linda has ¼ box of cereal left and it needs to last for 5 days.  How much cereal should she eat each day?


a.  Division number model:_____________________
b. Answer:____________
c. Check:_____________


  Solve.
 
a. 30 * 2/5 = _______________

b.  18 * 5/9 = _______________
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